
Chapter 12- Exercises



Annual cash inflows that will arise from two competing investment projects are given below: 
The discount rate is 8%.

Required:
Compute the present value of the cash inflows for each investment.

Year Investment A Investment B

1 $            4,000 $         16,000 
2 8,000 12,000
3 12,000 8,000
4 16,000 4,000

$         40,000 $         40,000 

[EX.01]



Requirement : Compute the present value of the cash inflows for each investment.

Amount of Cash Flows 8% Present Value of Cash Flows

Year Investment A Investment B Factor Investment A Investment B

1 $4,000 $16,000 0.926 $3,704 $14,816

2 $8,000 $12,000 0.857 6,856 10,284

3 $12,000 $8,000 0.794 9,528 6,352

4 $16,000 $4,000 0.735 11,760 2,940

$31,848 $34,392



Conrad has just retired. His company’s retirement program has two options as to how 
retirement benefits can be received. Under the first option, Conrad would receive a lump sum 
of $200,000 immediately as his full retirement benefit. Under the second option, he would 
receive $16,000 each year for 20 years plus a lump-sum payment of $65,000 at the end of the 
20-year period.

Required:

If he can invest money at 7%, which option would you recommend that he accept? Use present value analysis.

[Ex.02]



Requirement : If he can invest money at 7%, which option would you 
recommend that he accept? Use present value analysis.

Annual annuity: $16,000 × 10.594 $169,504 

Lump-sum payment: $65,000 × 0.258 16,770 

Total present value $186,274 

Total present value: $200,000 × 1.000 $200,000 



In three years, when she is discharged from the Marines, Renita wants to buy a 
$12,000 power boat.

Required:

What lump-sum amount must Renita invest now to have the $12,000 at the end of three years if 
she can invest money at: 

1. Eight percent?

2. Twelve percent?

[Ex.03]



Requirement : What lump-sum amount must Renita invest now to have 
the $12,000 at the end of three years if she can invest money at: 
1. Eight percent?
2. Twelve percent?

𝑃𝑉 = $12,000 × 0.794 = $9,528

𝑃𝑉 = $12,000 × 0.712 = $8,544



[Ex.04]

Allen’s Attractions, Inc., is considering the purchase of new video games to place in its stores. The 
games would cost a total of $480,000, have an three-year useful life, and have a total salvage 
value of $4,000. The company estimates that annual revenues and expenses associated with the 
games would be as follows:

Required:
1. What is the payback period for the new video games? Assume that Allen’s Attractions, Inc., 

will not purchase new games unless they provide a payback period of two years or less. 
Would the company purchase the new games?

2. What is the simple rate of return promised by the games? If the company requires a simple 
rate of return of at least 7%, will the games be purchased?

Revenues $400,000 

Less operating expenses:

Insurance $40,000

Depreciation 160,000

Maintenance 110,000 $310,000 

Net operating income $90,000 



Requirement 1: What is the payback period for the new video games? Assume that Allen’s 
Attractions, Inc., will not purchase new games unless they provide a payback period of 
two years or less. Would the company purchase the new games?

Net operating income $90,000

Add: noncash deduction for depreciation 160,000

Annual net cash inflow $250,000

Payback period =
Investment required

Annual net cash inflow
=

$480,000

$250,000

= 1.92 years Yes



Requirement 2: What is the simple rate of return promised by the games? If the company 
requires a simple rate of return of at least 7%, will the games be purchased?

Simple rate of return =

Annual incremental
net income

Initial investment =
$90,000

$480,000

= 18.8% Yes



[Ex.05]

Stephani Anthony is a divisional manager for Bradlen Company. Her annual pay raises are largely 
determined by her division’s return on investment (ROI), which has been above 18% each of the 
last three years. Stephani is considering a capital budgeting project that would require a 
$6,000,000 investment in equipment with a useful life of four years and no salvage value. Bradlen
Company’s discount rate is 12%. The project would provide net operating income each year for 
five years as follows:

Required:
1. Compute the project’s net present value.
2. Compute the project’s simple rate of return.
3. Would the company want Stephani to pursue this investment opportunity? Would Stephani 

be inclined to pursue this investment opportunity?

Sales $6,500,000 

Variable expenses 3,200,000 

Contribution margin 3,300,000

Fixed expenses:

Advertising, salaries, and other fixed out-of-pocket costs $1,300,000 

Depreciation 1,500,000 

Total fixed expenses 2,800,000 

Net operating income $ 500,000 



Requirement 1: Compute the project’s net present value.

Requirement 2: Compute the project’s simple rate of return.

Now Years 1-4
Purchase of equipment $(6,000,000)

Sales $6,500,000 
Variable expenses (3,200,000)
Out-of-pocket costs __________ (1,300,000)

Total cash flows (a) $(6,000,000) $2,000,000 

Discount factor (12%) (b) 1.000 3.037

Present value (a)×(b) $(6,000,000) $6,074,000 
Net present value $74,000 

Simple rate of return =

Annual incremental
net income

Initial investment =
$500,000

$6,000,000

= 8%

Requirement 3: Would the company want Stephani to pursue this 
investment opportunity? Would Stephani be inclined to pursue this 
investment opportunity?

Company - Yes Stephani – Probably not






